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1. Synchronscope device is a electrodynamometer type or 
Synchronscope Gß£x electrodynamometer type AÀ»x 

(A) Moving coil type 
(B) Power factor meter  
(C) Moving Iron type 
(D) Both (B) and (C) are correct 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

2. A bridge circuit works at a frequency of 2 kHz. The following can be
used as detectors for detection of null conditions in the bridge 
Bridge circuit BÚx 2 kHz frequency Ehß ÷Áø» ö\´²® ö£õÊx 

RÌPshÁØÔÀ GøÁ detector BP £¯ß£kzx® ö£õÊx AøÁ Null 
condition US ö\À¾®? 

(A) Vibration galvanometer and headphones  

(B) Headphones and tunable amplifiers 

(C) Vibration galvanometer and tunable amplifiers  

(D) Vibration galvanometers, headphones and tunable amplifiers 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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3. In synchronscopes the correct instant of synchronizing is when the 
bushbar and the incoming machine voltages 
Synchronscope P¸Â°À bushbar Ehß CønUS® ö£õÊx

synchronizing BÚx P¸Â°À EÒÍ voltage ß 

(A) Are equal in magnitude  

 Magnitude \©©õP C¸US®ö£õÊx |øhö£Ö®   

(B) Are not equal in magnitude 

 Magnitude \©©õP CÀ»õuö£õÊx |øhö£Ö®   

(C) Does not have the same frequency  
 Frequency BÚx ÷ÁÖ£k® ö£õÊx |øhö£Ö®   

(D) Are in different phase 
 Phase BÚx ÷ÁÖ£k®ö£õÊx |øhö£Ö® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

4. Example of absolute instrument  
Absolute instrument &US Euõμn® ––––––––––.  

(A) Ammeter (B) Voltmeter 

 A®«mhº  ÷ÁõÀm «mhº 

(C) Tangent galvanometer (D) Energy meter 
 ÷hßöáßm PõÀÁ÷Úõ«mhº  GÚºâ «mhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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5. Precision is defined as 
Precision Gß£x ––––––––––. 

(A) Reliability (B) Accuracy 

(C) Repeatability (D) Uncertainty 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

6. Damping commonly used in moving Iron instrument is ––––––––––
damping. 
ö£õxÁõP moving Iron P¸ÂPÎÀ £¯ß£kzx® dumping ––––––––––.

(A) Air friction (B) Eddy current 

(C) Fluid friction (D) None of these 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

7. Dynamometer type moving coil instrument can be used for  
Dynamometer ÁøP moving coil P¸ÂPÒ AÍÂh EuÄÁx –––––––––.

(A) DC current and voltage only  

 DC current ©ØÖ® voltage ©mk®   

(B) AC current and voltage only 

 AC current ©ØÖ® voltage ©mk®   

(C) DC or AC currents and voltages only  
 DC AÀ»x AC currents ©ØÖ® voltages ©mk®   

(D) DC as well as AC circuit  
 DC ©ØÖ® AC ÁøP circuit 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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8. The sensitivity of the voltmeter is  
÷ÁõÀm «mh›À sensitivity Gß£x ––––––––––. 

(A) 
V
Ω

 (B) 
Ω
V  

(C) 
A
Ω

 (D) 
Ω
A

 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

9. Maxwell's inductance – capacitance bridge is used for measurement 
of inductance of 
Maxwell's inductance – capacitance bridge measurement of 
inductance AuÝøh¯ –––––––––– AÍÂh¨ £¯ß£kQÓx.  

(A) Low Q coils (B) Medium Q coils 

(C) High Q coils (D) Low and medium Q coils 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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10. In Anderson bridge the unknown self inductance is measured in
terms of a fixed –––––––––– and –––––––––– by comparison. 
Anderson bridge À öu›¯õu inductance I AÍÂk® ÷£õx {ø»¯õÚ 

–––––––––– ©ØÖ® –––––––––– J¨¤h ÷Ásk®. 

(A) Resistance and Capacitance  

(B) Capacitance and Resistance 

(C) Inductance and Capacitance  

(D) Capacitance and Inductance 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

11. This measurement is not done by scheming bridge 
Scheming bridge ÚõÀ AÍÂh¨£h •i¯õux CÁØÔÀ 

(A) Capacitance (B) Permittivity 

(C) Dielectric loss (D) High resistance 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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12. With help of –––––––––– instrument can be used for measurement
of high voltages and large currents. 
G¢u P¸Â°ß EuÂ¯õÀ AvP ªßÚÊzu®, ©ØÖ® AvP 
ªß÷ÚõmhzvøÚ AÍUP EuÄQßÓx? 

(A) Voltage divider (B) Transformer 

 ÷ÁõÀ÷hä iøÁhº  iμõßì£õº©º 

(C) Transducer (D) Potentiometer 
 iμõßìi³\º  ö£õmöhß]÷¯õ «mhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

13. –––––––––– is the total power delivered (or) consumed over a time
interval. 
–––––––––– Gß£x ö©õzu BØÓÀ AÀ»x J¸ SÔ¨¤mh Põ» 
CøhöÁÎ°À ö\»ÁõÚ BØÓ»õS®. 

(A) Energy (B) Power 

(C) Voltage (D) Current 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

14. Which transformer is used for measurement of high current? 
G¢u Transformer AvP£m\ ªß÷Úõmhzøu AÍUP EuÄQßÓx? 

(A) Potential Transformer (B) Current Transformer 

(C) Step up transformer (D) Step down transformer 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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15. Machine armature, series field winding examples of  
Machine armature, series field winding GkzxUPõmkPÒ 

(A) Low resistance (B) Medium resistance 

 SøÓÁõÚ ªßuøh  |kzuμ©õÚ ªßuøh 

(C) High resistance (D) No resistance 
 AvP ªßuøh  ªßuøh CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

16. In a single phase energy meter the core of these electro magnet is
made up of –––––––––– steel lamination. 
Single phase energy meter À EÒÍ electro magnet material BÚx

–––––––––– steel laminational ÍõÀ E¸ÁõUP¨£mi¸US®.  

(A) Aluminium (B) Silicon 

 A¾ªÛ¯®  ]¼UPõß 

(C) Iron (D) Gold 
 C¸®¦  u[P® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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17. In a CRT the focussing anode is located 
CRT °À focussing anode Aø©Âh©õÚx 

(A) Between pre accelerating and accelerating anodes  

 Pre accelerating anode US® accelerating anodes US® Cøh°À 
EÒÍx    

(B) After accelerating anode 

 Accelerating anodeUS A¨£õÀ EÒÍx   

(C) Before pre accelerating anode  
 Pre accelerating anodeUS •ßÚõÀ EÒÍx   

(D) Before accelerating anode 
 Accelerating anodeUS •ßÚõÀ EÒÍx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

18. The main part of the cathode ray oscilloscope is  
Cathode Ray Oscilloscope ß •UQ¯ £Sv ––––––––––. 

(A) Vertical Amplifier (B) Horizontal Amplifier 

(C) Cathode Ray Tube (CRT) (D) Time Base Generator 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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19. An inverse transducers converts 
Inverse transducer ©õØÖÁx 

(A) Electrical energy to any other form of energy  

 Electrical energy °¼¸¢x ÷ÁÖ ÁøP¯õÚ energy   

(B) Electrical energy to light energy 

 Electrical energy °¼¸¢x light energy ¯õP ©õØÓ   

(C) Mechanical displacement in to electrical signal  
 Mechanical displacement ¼¸¢x electrical signal BP   

(D) Electrical energy to mechanical form 
 Electrical energy °¼¸¢x mechanical energy ¯õP ©õØÖÁx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

20. RTD is a/an 
RTD J¸ 

(A) Active Transducer (B) Passive Transducer 

(C) Inductive Transducer (D) Capacitive Transducer 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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21. Which one of the following is not DC system? 
RÌPshÁØÔÀ Gx DC system CÀø»? 

(A) Two wire DC system   

(B) Two wire system with mid point earthed   

(C) Three wire system  

(D) Four wire system 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

22. Identify the type of HVDC scheme that uses only one conductor 
J÷μ J¸ Phzvø¯¨ (conductor) £¯ß£kzx® HVDC schemeß 

ÁøP¯õÚx ––––––––––. 

(A) Monopolar (B) Bipolar 

(C) Homopolar (D) Back to back link 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

23. If sag in an overhead line increases, tension in the line 
Overhead line À EÒÍ sagß E¯¸®÷£õx, Auß tension 
(CÊÂø\)¯õÚx 

(A) Decreases (B) Increases 

 SøÓQßÓx  AvP©õQßÓx 

(C) Remains same (D) Zero 
 ©õØÓ® CÀø»  §äâ¯® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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24. Aluminium has a specific gravity of 
A¾ªÛ¯zvß ìö£]¤U QμõÂmi 

(A) 1.5 (B) 2.7 

(C) 4.2 (D) 7.8 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

25. Temperature increase produces which of the following effect on a
transmission line? 
öÁ¨£{ø» AvP©õS®÷£õx Ax transmission line I G¢u ÂuzvÀ 
£õvUQÓx?  

(A) Tension of the conductor and it's sag increase  

 Conductor ß Tension ©ØÖ® sag Cμsk® AvP›UQÓx   

(B) Tension of the conductor and it's sag decrease 

 Conductor ß Tension ©ØÖ® sag Cμsk® SøÓQÓx   

(C) Tension of the conductor decreases and it's sag increases  
 Conductor ß Tension SøÓQÓx ©ØÖ® sag AvP›UQÓx 

(D) Tension of the conductor increases and it's sag decreases 
 Conductor ß Tension AvP›UQÓx ©ØÖ® sag SøÓQÓx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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26. A –––––––––– is provided over the insulation to protect the cable
from moisture. 
Cable I Dμ¨£uzv¼¸¢x £õxPõUP insulation «x Aø©UP¨£kQÓx 

(A) Serving (B) Metallic sheath 

(C) Bedding (D) Armouring 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

27. The most common and accurate method of locating earth fault or
short – circuit fault in underground cables  
Underground cable À HØ£k® earth fault AÀ»x short – circuit fault 
I Psk¤iUP £¯ß£kzu¨£k® •øÓø¯ ÷uºÄ ö\´P 

(A) Murray loop test (B) Open circuit test 

(C) Simple test (D) Short circuit test 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

28. Steel pipes arranged to take water to power house is called 
power house US }øμ Gkzxa ö\À¾® Steel pipes PÒ CÆÁõÖ 
AøÇUP¨£k® 

(A) Penstock (B) Surge tank 

(C) Spill ways (D) Tail race 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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29. Suspension type of insulator are used for voltages beyond 
Suspension type insulator C¢u ÷ÁõÀ÷hä ÷©À £¯ß£kzu£kQÓx 

(A) 400 V (B) 11 kV 

(C) 33 kV (D) 240 V 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

30. The most commonly used metal for cooling of nuclear reactors is
_______________  
ö£õxÁõP, Aq Eø»PøÍ SÎºÂUP £¯ß£kzx® E÷»õP® Gx? 

(A) Sodium (B) Calcium 

 ÷\õi¯® (Sodium)  PõÀ]¯® (Calcium)  

(C) Mercury (D) Zinc 
 ö©ºS› (Mercury)  ][ (Zinc) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

31. The maximum KVA demand of the consumer is –––––––––– to 
power factor. 
~Pº÷Áõ›ß maximum KVA demand BÚx £Áº factor US G¢u 
ÂQuzvÀ EÒÍx? 

(A) inversely proportional (B) directly proportional 

 ÷|º©õÓõÚ (Inversely)  ÷|μõÚ 

(C) equal (D) double 
 \©©õÚ  Cμmi¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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32. Area under the daily load curve divided by 24 gives 
Area under the load curve øÁ 24 BÀ ÁSUP Qøh¨£x 

(A) average load (B) maximum demand 

(C) units generated (D) load factor 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

33. The another name for steam power station is ––––––––––. 
Steam power station Ûß ©ØöÓõ¸ ö£¯º 

(A) Thermal Station (B) Water Station 

(C) Nuclear Station (D) Diesel Station 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

34. In a Nuclear reactor, the moderator is used to 
{³UQÎ¯º ›¯Uh›À ©õm÷μmhº £¯ß 

(A) slow down neutrons  

 {³mμõÛß ÷ÁPzvøÚ SøÓ¨£x   

(B) slow down electrons 
 G»Uμõß ÷ÁPzvøÚ SøÓ¨£x 

(C) high accelerate neutrons  
 {³mμõÛß ÷ÁPzvøÚ AvP›¨£x   

(D) high accelerate electrons 
 G»Uμõß ÷ÁPzvøÚ AvP›¨£x  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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35. Which of the following Power Generation under conventional
method? 
RÌPõs£øÁPÎß ©μ¦ ÁÈ \õº¢u ªß EØ£zv •øÓ Gx? 

(A) Hydro-electric (B) Thermal 

 }º&ªßEØ£zv  AÚÀ&ªß{ø»¯® EØ£zv 

(C) Nuclear (D) All of the above 
 Aqªß {ø»¯ EØ£zv  ÷©÷» Psh ¯õÄ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

36. A low utilisation factor for a plant indicates that  
J¸ ªß{ø»¯zvß utilisation factor ªPÄ® SøÓÁõP C¸¨£x GøuU 
SÔUQÓx? 

(A) Plant is under maintenance  
 ªß{ø»¯® £μõ©›¨¦¨ £oPÐUPõP {Özu¨£mkÒÍx   

(B) Plant is used for base load only 

 ªß{ø»¯® Base load UPõP ©mk® £¯ß£kzu¨£kQÓx    

(C) Plant is used for standby purpose only  
 ªß{ø»¯® Standby BP C¯[QU öPõsi¸UQÓx   

(D) Plant is used for base load as well as peak load 
 ªß{ø»¯® Base load ©ØÖ® Peak load Cμsøh²® supply

ö\´QÓx   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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37. A fuse element should have –––––––––– melting point. 
Fuse element BÚx –––––––––– E¸S® {ø»ø¯ öPõshx. 

(A) low (B) high 

 SøÓÄ  AvP® 

(C) medium (D) low or high 
 |kzuμ®  SøÓÄ AÀ»x AvP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

38. The voltage that appears across the contacts of the circuit breaker
during the arcing period is ––––––––––. 
Circuit breaker ß contact PÐUS Cøh÷¯ arcing period ß ÷£õx 

E¸ÁõQßÓ ªßÚÊzu® ––––––––––. 

(A) Arc voltage  

(B) Restriking voltage 

(C) Recovery voltage  

(D) Rate of Rise of Restriking Voltage 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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39. Function of a fuse is to 
Fuse BÚx 

(A) Identify the fault  
 ‘ªß uÁÖ’ ©mk® PshÔ²®   

(B) Sense the fault and break the circuit 

 ‘ªß uÁÖ’ (Electrical fault) I Enº¢x, circuit I break ö\´x 
Âk® 

(C) Same that of a relay  
 Relay&I ÷£õ» ö\¯À£k®   

(D) Same that of a circuit breaker 
 Circuit breaker&I ÷£õ» ö\¯À£k®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

40. In equipment grounding, the enclosure is connected to ––––––––––
wire. 
Equipment grounding À, (enclosure) ‰i¯ _ØÖ –––––––––– Ehß 
CønUP¨£k®. 

(A) Ground (B) Neutral 

(C) Phase (D) Either phase or neutral 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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41. Regulation of a good transformer should be near 
J¸ |À» iμõßìL£õº©›ß öμS÷»åß RÌUPshÁØÔÀ G¢u ©v¨¤ß 
A¸QÀ C¸UP ÷Ásk®. 

(A) 1% (B) 10% 

(C) 20% (D) 30% 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

42. The main purpose of using core in a Transformer is to ––––––––––. 
ªß©õØÔPÎÀ (Transformer) core I E£÷¯õP¨£kzxÁuß •UQ¯ 

Põμn® ––––––––––.  

(A) Reduce reluctance  
 Reduce reluctance (reluctance I SøÓ¨£uØS)   

(B) Prevent eddy current loss 

 Eddy current loss I uÂº¨£uØS   

(C) Decrease iron loss  
 Iron loss I SøÓUP   

(D) Eliminate magnetic hystersis 
 Magnetic hystersis }USÁuØS   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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43. The leakage flux in a transformer depends upon the 
Transformer&À leakage flux Gøu \õº¢x EÒÍx?  

(A) applied voltage (B) frequency 

(C) load current (D) mutual flux 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

44. In a transformer EMF per turn in primary winding is 
Transformer&À primary winding&°À EMF per turn BÚx 

(A) less than EMF per turn in secondary winding   
 secondary winding&°ß EMF per turn&I Âh SøÓÁõP C¸US®

(B) greater than EMF per turn in secondary winding 

 secondary winding&°ß EMF per turn&I Âh AvP©õP C¸US® 

(C) equal to EMF per turn in secondary winding  
 secondary winding&°ß EMF per turn&US \©©õP C¸US® 

(D) equal to zero 
 §äâ¯zvØS \©©õP C¸US®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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45. A 200 KVA transformer has an iron loss of 1 KW and full load Cu
loss of 4 KW. Its load KVA corresponding to maximum efficiency is 
J¸ 200 KVA transformer&ß Iron loss 1 KW&BPÄ® Copper loss
BÚx full load&À 4 KW BPÄ® EÒÍx. Auß AvP£m\ vÓÝUPõÚ 

(max.efficiency) load KVA&ß AÍÁõÚx 

(A) 100 KVA (B) 141.4 KVA 

(C) 50 KVA (D) 200 KVA 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

46. The load taken up by an alternator depends upon its –––––––––– of 
its rotor. 
BÀhº÷ÚmhμõÚx £ÐøÁ HØÖUöPõÒÐ® ÷£õx Auß `Ç¼ ––––––––
\õº¢xÒÍx. 

(A) Controlling Torque (B) Driving Torque 

(C) Deflecting Torque (D) Advancement 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

47. A 50 Hz alternator will run at the greatest possible speed if it is
wound for –––––––––– poles. 
J¸ 50 Hz alternator AvP©õÚ ÷ÁPzvÀ _Ç¾ÁuØS ÷uøÁ¯õÚ 

–––––––––– poles GsoUøP.  

(A) 8 (B) 6 

(C) 4 (D) 2 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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48. What is the frequency of voltage generated by an alternator having
10 poles and rotating at 720 rpm? 
Alternatorß polePÎß GsoUøP 10 speed 720 rpm, A¨÷£õx 

Alternator ß frequency GßÚ? 

(A) 50 Hz (B) 60 Hz 

(C) 70 Hz (D) 75 Hz 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

49. In an alternator when the load pf is unity 
Alternator ß load power factor BÚx unity BP C¸US®÷£õx 

(A) the armature flux will be demagnetising  
 Armature flux BÚx demagnetising   

(B) the armature flux will be cross magnetising 

 Armature flux BÚx cross magnetising   

(C) the armature flux will reduce to zero  
 Armature flux SøÓ¢x zero BS®   

(D) the armature flux will have square waveform 
 Armature flux BÚx square waveform BP C¸US®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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50. Turbo alternator are generally used to run at ––––––––––. 
ö£õxÁõP Turbo alternator ß Speed BÚx 

(A) Low speed (B) Medium speed 

 SøÓ¢u speed  ªu©õÚ speed 

(C) Low and medium speed (D) Very high speed 
 SøÓ¢u ©ØÖ® ªu©õÚ speed  AvP ÷ÁP® (speed) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

51. A ϕ−3  slip ring induction motor is fed from the rotor side with
stator winding short circuited. The frequency of stator current is 
J¸ ϕ−3  slip ring induction motor BÚx rotor ÁÈ¯õP feed 
ö\´¯¨£kQÓx. AuÝøh¯ stator winding  BÚx short circuit 
ö\´¯¨£mhõÀ stator current –ß frequency BÚx 

(A) Slip frequency  

(B) Supply frequency 

(C) Frequency corresponding to the rotor speed  

(D) Zero  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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52. An induction motor when started on load does not accelerate upto
full load speed, but runs at 1/7th  of the rated speed. The motor is 
said to be 
J¸ induction motor– I start ö\´²® ÷£õx Ax full load speed– À 

C¯[Põ©À rated speed–À HÈÀ J¸ £[S1/7th   ÷ÁPzvÀ C¯[QÚõÀ 
AuØS GßÚ ö£¯º? 

(A) Locking (B) Plugging 

(C) Crawling (D) Cogging 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

53. The slip at which maximum torque occurs in a ϕ3 induction motor is 
given as 
J¸ induction motor À AvP©õÚ torque G¢u slip À E¸ÁõQÓx. 

(A) 
2

2
X
R

S =  (B) 
2

2

2

X

R
S =  

(C) 
2

2
2

X
R

S =  (D) 22 XRS ⋅=  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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54. Synchronous motor can operate at 
J¸ ][PμÚì ÷©õmhõøμ RÌPshÁØÔÀ G¢u {ø»°À C¯UP»õ®? 

(A) Lagging p.f. only  
 ÷»UQ[ £Áº L÷£Uhº ©mk® 

(B) Leading p.f. only 

 ½i[ £Áº L÷£Uhº ©mk®  

(C) Unity p.f. only  
 ³Ûmi £Áº L÷£Uhº ©mk® 

(D) Any of the above these 
 ÷©ØPshÁØÔÀ HuõÁx JßÖ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

55. The range of efficiency for shaded pole motor is ––––––––––.  
Shaded pole motor ß efficiency ©v¨¦ 

(A) 95% to 99% (B) 80% to 90% 

(C) 5% to 35% (D) 50% to 75% 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

56. A universal motors is used for driving 
Universal ÷©õmhμõÚx –––––––––– À £¯ß£kzu¨£kQÓx.  

(A) food mixers (B) ceiling fan 

(C) electric clocks (D) photocopying machines 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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57. The motor that provides high starting torque is 
High starting torque ÷uøÁ¨£k® Ch[PÎÀ £¯ß£kzuUTi¯ motor  

(A) Capacitor run motor (B) Resistance start motor 

(C) Shaded pole motor (D) Capacitor start motor 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

58. The direction of rotation of induction motor can be reversed by 
Induction motor `Ç¾® vø\ø¯ ©õØÔ Aø©UP –––––––––– ö\´¯ 
÷Ásk®. 

(A) increasing the supply voltage  

(B) reversing the phase sequence 

(C) decreasing the supply voltage  

(D) reducing the frequency 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

59. In Switched Reluctance Motor, torque is produced due to –––––––––.
Switched Reluctance Motor (SRM) ß torque E¸ÁõÁuØPõÚ principle

(A) Variable reluctance principle  

(B) Self inductance principle 

(C) Mutual inductance principle  

(D) Constant reluctance principle 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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60. The speed of rotation of stepper motor depends on ––––––––––. 
Stepper motor ß speed of rotation BÚx Gøu¨ ö£õÖzux? 

(A) magnitude of supply voltage (B) frequency of input pulse 

(C) torque (D) polarity of stator current 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

61. In PLC programme, a retentive timer function is ––––––––––. 
PLC ¦÷μõQμõªÀ retentive timer μõÚx ––––––––––.  

(A) Defaults to the ‘ON’ state  
 C¯À£õÚ ‘Bß’ {ø»   

(B) Defaults to the OFF state 

 C¯À£õÚ ‘B¨’ {ø»   

(C) Comes last in the program  
 {μ¼À Pøh]¯õP Á¸®   

(D) Not reset after a power cycle 
 £Áº _ÇØ]US¨ ¤ÓS «mhø©UP¨£hÂÀø»   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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62. The following elements are needed to make a star delta starter
using Ladder diagram  
÷»hº øh¯Qμø© £¯ß£kzv ìhõº öhÀhõ ìhõºmhøμ E¸ÁõUSÁuØS 
÷uøÁ¯õÚøÁ GßöÚßÚ? 

(A) Two push buttons, One timer, Three contactor  
 Cμsk ¦è £mhß, J¸ øh©º, ‰ßÖ PõshUhºPÒ   

(B) One push button, One timer, Three contactor 

 J¸ ¦è £mhß, J¸ øh©º, ‰ßÖ PõshUhºPÒ   

(C) Two push button, Two timer, Two contactor  
 Cμsk ¦è £mhß, Cμsk øh©º, Cμsk PõshUhºPÒ   

(D) None of the above 
 ÷©÷» EÒÍvÀ HxÄªÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

63. A normally closed contact symbolize in ladder logic is ––––––––––. 
Ho uºUPzvÀ, ‰i¯ öuõhº¦ ö£õxÁõP GøuU SÔUQÓx? 

(A) An open switch (B) A closed switch 

 J¸ vÓ¢u _Âma  J¸ ‰i¯ _Âma 

(C) A Timer (D) A Counter 
 J¸ øh©º  J¸ PÄshº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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64. –––––––––– are an example for output modules in the
programmable logic controller. 
{μÀ£kzuUTi¯ »õâU Psm÷μõ»›À EÒÍ öÁÎ±k öuõSvPÐUS 

–––––––––– J¸ GkzxUPõmk. 

(A) Switches (B) Alarms 

 {ø»©õØÔ  A»õμ[PÒ 

(C) Lamps (D) Both (B) and (C) 
 ÂÍUSPÒ  (B) ©ØÖ® (C) Cμsk®  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

65. The following process updates the status of PLC outputs –––––––––.
¤ßÁ¸® G¢u ö\¯À•øÓ¯õÚx PLC output ©v¨¦PøÍ¨ ¦x¨¤UQÓx? 

(A) Full Scan (B) Output scan 

 •Ê ì÷Pß  öÁÎ±k ì÷Pß 

(C) Input scan (D) Process scan 
 EÒÏk ì÷Pß  ö\¯À•øÓ ì÷Pß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

66. The most popular programming method is PLC is ––––––––––. 
PLC °À ªPÄ® ¤μ£»©õÚ programming ÁøP¯õÚx ––––––––––.  

(A) Ladder diagram (B) C++ 

 Ho Áøμ£h®  C++ 

(C) OOP+ (D) VHDL 
 OOP+  Â.Ga.i.GÀ. 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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67. When the plunger of a contactor is in closed position, the coil current
is ––––––––––. 
PõshõUh›ß ¤Íßáº ‰i¯ {ø»°À C¸US® ÷£õx, Põ°À 

ªß÷Úõmh® –––––––––– C¸US®. 

(A) zero (B) maximum 

 §äâ¯©õP  AvP©õP 

(C) minimum (D) negative 
 SøÓÁõP  ö|PiÆ BP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

68. When two dissimilar metals having different thermal coefficients of
expansion are joined, it is called ––––––––––. 
öÁÆ÷ÁÖ öÁ¨£U Sn[PÒ öPõsh Cμsk E÷»õP[PÒ

CønUP¨£k®÷£õx, Ax –––––––––– GÚ AøÇUP¨£kQÓx. 

(A) Bimetallic strips (B) Trimetallic strips 

 ø£ö©mhõ¼U ìi›¨PÒ  iøμö©mhõ¼U ìi›¨PÒ 

(C) Metallic strips (D) Bidirectional strips 
 ö©mhõ¼U ìi›¨PÒ  ø£øhμUåÚÀ ìi›¨PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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69. In contactor, the material Silver Nickel is good for carrying current
upto about –––––––––– A.  
PõßhõUh›À, öÁÒÎ {UPÀ ö£õ¸Ò _©õº –––––––––– A Áøμ 
ªß÷Úõmhzøu Gkzxa ö\À» ÁÀ»x. 

(A) 25 (B) 50 

(C) 75 (D) 100 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

70. ‘Inching’ of a motor is also named as 
J¸ ÷©õmhõøμ ‘Cßa’ ö\´Áx –––––––––– GßÖ® ö£¯›h¨£mkÒÍx. 

(A) Jogging (B) Stopping 

 áõQ[  ìhõ¨¤[ 

(C) Quicking (D) Slipping 
 S°UQ[  ì¼¨¤[ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

71. The relay which remains in energised position even when the
operation coil is de-energised is known as ––––––––––. 
C¯UPa _¸Ò ö\¯¼ÇUP¨£k® ÷£õx® BØÓÀ ªUP {ø»°À C¸US® 

›÷» –––––––––– GÚ AøÇUP¨£kQÓx. 

(A) Under relay (B) Latching relay 

 Ashº ›÷»  ÷»m][ ›÷» 

(C) Over relay (D) Control relay 
 KÁº ›÷»  Pmk¨£õk ›÷» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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72. The function of overload relay is 
KÁº ÷»õk ›÷»°ß £¯ß£õk Gß£x 

(A) To protect the motor from excessive current   
 ÷©õmhõøμ AvP©õÚ ªß÷ÚõmhzvÀ C¸¢x® £õxPõUQÓx 

(B) To protect the motor from excessive current and voltage 

 ÷©õmhõøμ AvP©õÚ ªß÷Úõmh® ©ØÖ® ªßÚÊzuzvÀ C¸¢x® 
£õxPõUQÓx   

(C) To protect the motor from excessive voltage  
 ÷©õmhõøμ AvP©õÚ ªßÚÊzuzvÀ C¸¢x £õxPõUQÓx   

(D) To protect the motor from less current 
 ÷©õmhõøμ SøÓ¢u AÍÄ ªß÷ÚõmhzvÀ C¸¢x £õxPõUQÓx  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

73. Self-induced or reactance voltage is given as, if the commutation is
linear 
Commutation Linear BP C¸US® £m\zvÀ, Self-induced or 
Reactance voltage BÚx 

Where I  – Current through the conductor 

 CT  – Time of commutation 

 L  – Self-Inductance 

(A) 
CT
I

L
2×  (B) 

CT
I

L×  

(C) 
CT
I

L×11.1  (D) 
CT
I

L
2

11.1 ×  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



   336-Electrical and Electronics 
  Engineering 

34

74. In DC motor control, a charged capacitor momentarily reverse-
biases the conducting thyristor to turn it off is called ––––––––––. 
commutation. 
i.]. ÷©õmhõº Pmk¨£õmiÀ, J¸ \õºä ö\´¯¨£mh ªß÷uUQ Aøu 

AønUP Phzx® øu›ìhøμ ]Ôx ÷|μ® ›Áºì BP ©õØÖÁx ––––––––
Põª²÷håß GßÖ AøÇUP¨£kQÓx. 

(A) Current (B) Power 

 Pμsm  £Áº 

(C) Over (D) Voltage 
 KÁº  ÷ÁõÀ÷hä 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

75. In direct torque control of inductor motor, when motor torque is
equal to reference torque, the rotation is ––––––––––. 
CshUåß ÷©õmhõ›ß ÷|μi hõºU Pß÷μõ¼À, ÷©õmhõº hõºU ©ØÖ® 

öμL£μßì hõºU \©©õP C¸¨¤ß, ÷©õmhõº _ÇØ] ––––––––––. 

(A) decreased (B) increased 

 SøÓ²®  AvP›US® 

(C) stopped (D) jerked 
 {ØS®  £u¸® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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76. The –––––––––– system is not a braking method of a dc motor. 
¤ßÁ¸ÁÚÁØÔÀ Gx i.]. ÷©õmhõ›ß ¤÷μUQ[ •øÓ AÀ»? 

(A) Regenerative braking (B) Reverse current braking 

 ›öáÚ÷μi[ ¤÷μUQ[  ›÷Áºì Pμsm ¤÷μUQ[ 

(C) AC dynamic braking (D) Rheostatic braking 
 H.]. øhÚªU ¤÷μUQ[  ›÷¯õìhõiU ¤÷μUQ[ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

77. Quick return mechanism is used in a ––––––––––. 
ÂøμÄ v¸®¦® ö£õÔ•øÓ¯õÚx CvÀ £¯ß£kzu¨£kQÓx. 

(A) Milling machines (B) Broaching machine 

 ªÀ¼[ ªæß  ¨÷μõa][ ªæß 

(C) Grinding machine (D) Planner machine 
 Qøμsi[ ªæß  ¤ÍõÚº ªæß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

78. In the conveyor control system, conveyor motors are started in 
sequence ––––––––––. 
Ps÷Á¯º Pmk¨£kzx® Aø©¨¤À EÒÍ Ps÷Á¯º ÷©õmhõºPÒ C¯[P 

öuõh[S® Âu®  ––––––––––. 

(A) one after the other (B) alternately 

 JßÓß ¤ß JßÓõP  ©õÔ ©õÔ 

(C) same time (D) reverse order 
 J÷μ ÷|μzvÀ  Gvº vø\°À 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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79. The speed N of the cumulatively cascaded motors can be controlled
by the following are equation ––––––––––. 
S•÷»miÆ ÷Pì÷Phm ÷©õmhõºPÎß ÷ÁP® N&I ¤ßÁ¸® J¸ 

\©ß£õmiß ‰»® PshÔ¯»õ® ––––––––––. 

(A) ( )BA PPfN −= 120  (B) ( )BA PPfN += 120  

(C) ( )BA PPfN += 120  (D) ( )BA PPfN −= 120  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

80. When two phase leads of a φ3 induction motor is interchanged, the 
motor is ––––––––––. 
3&÷£ì CshUåß ÷©õmhõ›ß Cμsk ½mPøÍ JßÖUöPõßÖ 

©õØÖ®÷£õx, ÷©õmhõº ––––––––––. 

(A) gets reversed (B) rotates in same direction 

 Gvº vø\°À _ØÖ®  A÷u vø\°À _ØÖ® 

(C) gets increased speed (D) gets burn-out 
 ÷ÁP©õP _ØÖ®  ¦øP²® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

81. An offline UPS requires 
Offline UPS US ÷uøÁ¯õÚx 

(A) Inductor (B) Capacitor 

(C) Battery (D) Resistor 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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82. Output ripple of SMPS is 
SMPS ß Output ripple  

(A) High (B) Nil 

(C) Very low (D) Low 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

83. AC drives used to control ––––––––––. 
¤ßÁ¸ÁÚÁØÖÒ Gx AC drives ‰»® control ö\´¯»õ®? 

(A) DC motor (B) DC series motor 

(C) Induction motor (D) Cyclo converter 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

84. Buck converter is ––––––––––. 
Buck converter Gß£x ––––––––––. 

(A) Step up converter  

(B) Step down converter 

(C) Step up and step down converter   

(D) Step up or step down converter 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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85. A chopper, where voltage as well as current remain negative is
known as ––––––––––. 
Chopper&À voltage ©ØÖ® current&ß ©v¨¦ negative GÛÀ ––––––––.

(A) Type-A (B) Type-B 

(C) Type-C (D) Type-D 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

86. Resonant pulse commutation is ––––––––––. 
Resonant pulse commutation Gß£x ––––––––––. 

(A) Class-A Commutation (B) Class-B Commutation 

(C) Class-C Commutation (D) Class-D Commutation 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

87. The minimum value of Anode current that is associated with the
turn on process of Thyristor is ––––––––––. 
SøÓ¢u£m\©õÚ Anode current BÚx Thyristor&I ON ö\´ÁuØPõP 

£¯ß£kzu¨£kQÓx. Ax ––––––––––. 

(A) Holding current (B) Latching current 

(C) Gate current (D) Trigger current 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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88. In a thyristor, anode current is made up of ––––––––––. 
Thyristor&À anode current&ø¯ E¸ÁõUSÁx ––––––––––. 

(A) Electrons only (B) Holes only 

 Electrons ©mk®  Holes ©mk® 

(C) Electrons and holes (D) Electrons or holes 
 Electrons ©ØÖ® holes  Electrons AÀ»x holes 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

89. Inverter is used to converter is  
Inverter Gß£x –––––––––– converter 

(A) AC to DC (B) DC to DC 

(C) AC to AC (D) DC to AC 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

90.                        is the electrical symbol of ––––––––––. 

                   GuØSshõÚ ªß SÔ±k 

(A) Transistor (B) Transformer 

 iμõßêìhº  iμõßìL£õº©º 

(C) Heater (D) Lamp 
 ïmhº  »õ®¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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91. Voltage variation at consumer point is permissible only within 
~Pº÷Áõº ¦ÒÎ°À ªßÚÊzu ©õÖ£õk EÒ÷Í ©mk÷© 
AÝ©vUP¨£kQÓx 

(A) ± 20% (B) ± 5% 

(C) ± 10% (D) ± 2% 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

92. What is extra high voltage? 
TkuÀ E¯º ªßÚÊzu® GßÓõÀ GßÚ? 

(A) Exceeds 22 KV  
 22 KVoltage ÷©À   

(B) Above 2 KV and below 22 KV 

 2 KV ÷©À 22 KV RÌ   

(C) Above 650 V and below 2000 V 
 650 V ÷©À 2000 V RÌ    

(D) Above 250 V and below 650 
 250 V ÷©À 650 US   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

93. To measure the level of illumination 
Illumination AÍÂøÚ AÍÂh EuÄÁx 

(A) Power analyser (B) Synergy meter 

(C) Lux meter (D) Multimeter 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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94. Heat is transferred to the surroundings by 
öÁ¨£® _ØÖ¨¦ÓzvØS ©õØÓ¨£kQÓx CuÚõÀ 

(A) Conduction (B) Convection 

 PhzuÀ  öÁ¨£a\»Ú® 

(C) Radiation (D) All the above 
 PvºÃa_  ÷©ØTÔ¯ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

95. What should be the height of the Roof Pole? 
Tøμ P®£zvß E¯μ® GßÚÁõP C¸UP ÷Ásk®? 

(A) Less than 5 m (B) Less than 3 m 

 5 m Âh SøÓÁõP  3 m Âh SøÓÁõP 

(C) More than 3 m (D) More than 10 m 
 3 m Âh AvP©õP  5 m Âh AvP©õP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

96. The cheap and temporary system of internal wiring is 
EÒ Á¯›[&CÀ, ©¼ÁõÚ ©ØÖ® uØPõ¼P Aø©¨¤ØS 

(A) Conduit wiring (B) Clear wiring 

 SÇõ´ Á¯›[  öuÎÁõÚ Á¯›[ 

(C) CTS or TRS wiring (D) Casing-Capping wiring 
 CTS AÀ»x TRS Á¯›[  EøÓ&‰kuÀ Á¯›[ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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97. ELCB operates on a minimum fault current of –––––––––– and 
disconnect faulting circuit. 
(Fault current) –––––––––– ÁÈ¯õP £õ²®÷£õx, Ax £ÊuõÚ _ØÓøÓ 
Cøn¨¤¼¸¢x xsiUQÓx. 

(A) 30 mA (B) 300 mA 

(C) 3 mA (D) 3 A 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

98. Centrifugal pump converts –––––––––– to ––––––––––. 
ö\ßm›¤³PÀ £®£õÚx –––––––––– BØÓø» –––––––––– BØÓ»õP 
©õØÖQÓx. 

(A) Chemical energy to Electrical energy  
 ÷Áv¯õØÓø» ªßÚõØÓ»õP   

(B) Electrical energy to Chemical energy 

 ªßÚõØÓø» ÷Áv¯õØÓ»õP   

(C) Electrical energy to Kinetic energy  
 ªßÚõØÓø» C¯UP¯õØÓ»õP   

(D) Kinetic energy to Electrical energy 
 C¯UP¯õØÓø» ªßÚõØÓ»õP   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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99. The range of operating voltage in high tension cable 
High tension cable ß operating voltage BÚx  

(A) 1–11 KV (B) 21–33 KV 

(C) 12–20 KV (D) 33–66 KV 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

100. The output of a tungsten filament lamp depends on 
Tungsten filament lamp ß output BÚx Gøu¨ ö£õÖzux? 

(A) Size of lamp (B) Size of the shell 

(C) Temperature of filament (D) Option (A), (B) and (C) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

101. The output voltage of the integrator is  
Integrator – ß output voltage 

(A) −= dtV
RC

V i
1

0  (B) 
dt
dV

RCV i−=0
 

(C) iVV =0  (D) 







+=

1
0 1

R

R
VV f
i  

 (E) Answer not known 
 Âøh öu›¯ÂÀø» 
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102. The open loop gain of ideal op–Amp is 
Ideal op–Amp – ß open loop gain 

(A) Infinity (B) 10,000 

(C) 100 (D) 0 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

103. An ideal op–Amp has 
Ideal op–Amp À 

(A) Infinite input and output impedance  

(B) Very low input and output impedance 

(C) Low input and infinite output impedance  

(D) Infinite input and zero output impedance 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

104. The universal gate is –––––––––– gate 
²ÛÁº\À gate BÚx –––––––––– gate 

(A) NAND (B) OR 

(C) NOT (D) AND 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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105. A nibble is string of 
J¸ nibble Gß£x 

(A) 4 bits (B) 2 bits 

 4 bits (|õßS ¤m)  2 bits (Cμsk ¤m) 

(C) 8 bits (D) 16 bits 
 8 bits (Gmk ¤m)  16 bits (£vÚõÖ ¤m) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

106. Convert the following Hex number to octal number A72E 
RÌPsh Hex Gsøn octal GsnõP ©õØÓÄ® A72E 

(A) 241426 (B) 313212 

(C) 123456 (D) 654442 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

107. The inverter is ––––––––––. 
CßöÁºmhº Gß£x ––––––––––. 

(A) NOT gate (B) OR gate 

(C) AND gate (D) EX OR gate 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



   336-Electrical and Electronics 
  Engineering 

46

108. Johnson counter is also caused as 
áõß\ß PÄshº –––––––––– GßÖ® AøÇUP¨£kQÓx. 

(A) Parallel Counter (B) Twisted Ring Counter 

(C) Ripple Counter (D) Ring Counter 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

109. The race around condition occurs in which flipflop? 
G¢u flipflop&À race around condition HØ£kQÓx?  

(A) SR Flipflop (B) D Flipflop 

(C) JK Flipflop (D) T Flipflop 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

110. The no change conditions occur when –––––––––– in JK Flipflop. 
JK Flipflop&À G¨ö£õÊx no change condition HØ£k®? 

(A) J = 1, K = 1 (B) J = 0, K = 0 

(C) J = 0, K = 1 (D) J = 1, K = 0 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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111. The number of Flipflops required to construct a decade counter is
––––––––––. 
Decade counter&I E¸ÁõUSÁuØS ÷uøÁ¨£k® Flipflop&PÎß 

GsoUøP ––––––––––. 

(A) 8 (B) 10 

(C) 4 (D) 3 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

112. D/A converter is required to convert the ––––––––––. 
D/A converter ß £¯ß£õk  ––––––––––.  

(A) Digital signal to Analog signal  

(B) Analog signal to Digital signal 

(C) Continuous signal  

(D) Discrete signal 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

113. The slowest A/D converter is 
–––––––––– SøÓÁõÚ ÷ÁP® öPõsh A/D converter. 

(A) Flash type  

(B) Successive approximation type 

(C) Dual slope type  

(D) R-2R Ladder type 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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114. In D/A converter equal increments of digital input causing equal
increment in analog output is called 
D/A converter À equal increments digital input ØS equal increment 
in analog output&US HØ£kÁx Gß£x 

(A) Resolution (B) Linearity 

(C) Accuracy (D) Settling time 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

115. Which of the following memory is non-volatile? 
¤ßÁ¸® memory&À Gx non-volatile? 

(A) RAM (B) ROM 

(C) Cache (D) Flip flop 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

116. Data is stored as a charge on the capacitor in ––––––––––. 
Data ÁõÚx capacitor&À charge BP ÷uUQ øÁ¨£x 

(A) Dynamic RAM (B) Static RAM 

(C) ROM (D) EPROM 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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117. –––––––––– is an example of combinational circuit. 
Combinational circuit&UPõÚ GkzxUPõmk ––––––––––.  

(A) Flipflop (B) Counter 

(C) Shift register (D) Multiplexer 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

118. Another name of Demultiplexer is ––––––––––. 
Demultiplexer&I –––––––––– GÚÄ® AøÇUP»õ®. 

(A) Data distributor (B) Data selector 

(C) Encoder (D) Counter 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

119. The number of input lines in a BCD to seven segment decoder is
––––––––––. 
BCD to seven segment decoder&À EÒÍ input line PÎß GsoUøP 

––––––––––. 

(A) 8 (B) 2 

(C) 16 (D) 4 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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120. The term ‘demultiplex’ means ––––––––––. 
‘Demultiplex’ GßÓõÀ ––––––––––. 

(A) Many into one (B) One into many 

(C) Many into many (D) One into one 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

121. Power drawn by a 3-phase balanced load is given by 
3-Phase balanced load&À Power&ß ©v¨¦ 

(A) φcosLLIVP =  (B) φcos3 LLIVP =  

(C) LLIVP 3=  (D) φcos3 PhPhIVP =  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

122. The relationship between the frequency of ac wave and the periodic 
time is given by ––––––––––. 
Ac wave form&ß frequency ©ØÖ® periodic time&US® EÒÍ öuõhº¦ 
¯õx? 

(A) Tf =  (B) 2Tf =  

(C) Tf 1=  (D) 2
1
T

f =  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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123. The Electric Power Formula expressed as ––––––––––. 
Electric Power&ø¯ PnUQh EuÄ® \©ß£õk Gx? 

(A) VRP =  (B) RVP 2=  

(C) 
R
I

P
2

=  (D) 
R
V

P
2

=  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

124. When two resistances are connected in series, they have 
Cμsk ªßuøhPÒ series Cøn¨¤À C¸US® ÷£õx,  

(A) Same current passing through them  
 Auß ÁÈ÷¯ £õ²® ªß÷Úõmh® J÷μ AÍÁõP C¸US®   

(B) Same resistance values 

 ªßuøh ©v¨¦ JßÓõP C¸US®   

(C) Same voltage across them  
 AuØQøh÷¯ EÒÍ ªß AÊzu ÷ÁÖ£õk JßÓõP C¸US®   

(D) Same power dissipation 
 AøÁ öÁÎ¨£kzx® ªß\Uv JßÓõP C¸US®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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125. In a given circuit, the value of unknown resistor is  

 
öPõkUP¨£mkÒÍ ªß_ØÔÀ EÒÍ ªßuøh (R) ©v¨¦  

 

(A) Ω02.0  (B) Ω20  

(C) Ω200  (D) Ω40  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

126. In a d.c. generator, if the field winding is connected in parallel with
the armature, then it is known as  
L¥Àm øÁsi[ Cøn¯õP CønUP¨£mkÒÍ D.C. öáÚ÷μmh›ß ö£¯º

(A) Series generator (B) Shunt generator 

 öuõhº öáÚ÷μmhº (Series)  ¦Ó (Shunt) öáÚ÷μmhº 

(C) a.c. generator (D) Commutator 
 (a.c.) H.]. öáÚ÷μmhº  P•m÷hmhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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127. The overall efficiency of a DC Generator is given by 
J¸ DC öáÚ÷μmh›ß Jmk ö©õzu ö\¯ÀvÓß Gß£x 

(A) ag IE ⋅ / Mechanical Power Input  

 ag IE ⋅ / C¯¢vμ \Uv EÒÏk   

(B) LIV ⋅ /Mechanical Power Input 

 LIV ⋅ / C¯¢vμ \Uv EÒÏk   

(C) aga IEIV ⋅⋅ /   

 aga IEIV ⋅⋅ /    

(D) aLg IVIE ⋅⋅ /  

 aLg IVIE ⋅⋅ /    

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

128. Calculate the coil pitch for a (i)  2 pole winding and (ii) 4-pole
winding. Given armature of a d.c. generator has 20 slots 
(i)  2 x¸Á® ©ØÖ® (ii) 4 x¸Á® øÁsi[PõÚ Põ°À ¤ma&ø¯ 

PnUQhÄ®. C¢u D.C. öáÚ÷μmhº 20 Bº©`º ì»õmPøÍ öPõskÒÍx

(A) (i) 2 and (ii) 5 (B) (i) 5 and (ii) 10 

 (i) 2 ©ØÖ® (ii) 5  (i) 5 ©ØÖ® (ii) 10 

(C) (i) 10 and (ii) 5 (D) (i) 10 and (ii) 4 
 (i) 10 ©ØÖ® (ii) 5  (i) 10 ©ØÖ® (ii) 4 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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129. The coil span is less than one pole pitch is called 
_¸Ò CøhöÁÎ J¸ x¸Á _¸v –––––––––– GßÖ AøÇUP¨£kQÓx. 

(A) Long pitched (B) Short pitched 

 »õ[ L¤ak  L\õm L¤a_k 

(C) Over pitched (D) Double pitched 
 KÁº L¤a_k  h¦Ò L¤a_k 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

130. In DC Generators, Lap winding is preferred for 
DC öáÚ÷μmh›À, »õ¨ øÁsi[ –––––––––– ÁøPUS ö£õ¸¢x®. 

(A) High current, Low voltage  
 AvP ªß÷Úõmh®, SøÓ¢u ªßÚÊzu®   

(B) High current, High voltage 

 AvP ªß÷Úõmh®, AvP ªßÚÊzu® 

(C) Low current, Low voltage  
 SøÓ¢u ªß÷Úõmh®, SøÓ¢u ªßÚÊzu®   

(D) Low current, High voltage 
 SøÓ¢u ªß÷Úõmh®, AvP ªßÚÊzu®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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131. In a lead acid battery the positive plates is 
Lead acid battery&À positive plate&BÚx 

(A) 2PbO  (B) 2H  

(C) PbO (D) 43OPb  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

132. As compared to Edison Alkali cell, a lead acid cell has 
Edison ªßP»zvøÚ J¨¤k® ÷£õx, Lead Acid ªßP»©õÚx 

(A) greater internal resistance (B) higher cost 

 AvP AP ªßuøh Eøh¯x  AvP Âø» Eøh¯x 

(C) higher efficiency (D) lower voltage 
 AvP efficiency uμUTi¯x  SøÓ¢u ªßÚÊzu® u¸Áx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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133. Ward-Leonard System of speed control is NOT recommended for 
Áõºm&¼÷¯õÚõmk •øÓ GuØS EP¢uuÀ»? 

(A) Constant speed operation  
 {ø»¯õÚ ÷ÁP ö\¯À£õk   

(B) Very low speed 

 ªP SøÓ¢u ÷ÁPzvØS 

(C) Wide speed range  
 Âzv¯õ\ ÷ÁPzvØS 

(D) Frequent motor reversals 
 AiUPi ÷©õmhõº vø\ø¯ v¸¨£ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

134. Expand NVC in DC motor starter 
i] ÷©õmhõº ìhõºmh›À Gß.Â.]&ø¯ Â›Ä£kzuÄ® 

(A) No volt current (B) No volt coil 

 ÷|õ ÷ÁõÀm Pμsm  ÷|õ ÷ÁõÀm Põ°À 

(C) Normal volt coil (D) Normal volt current 
 |õº©À ÷ÁõÀm Põ°À  |õº©À ÷ÁõÀm Pμsm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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135. In field control method of DC shunt motor, the speed control
–––––––––– normal rated speed is not possible. 
i] åßm ÷©õmhõ›ß ¥Àmk Psm÷μõÀ •øÓ°À, ÷ÁPU Pmk¨£õk 

–––––––––– \õuõμn ©v¨¤h¨£mh ÷ÁP® \õzv¯ªÀø». 

(A) above (B) below 

 ÷©÷»  R÷Ç 

(C) double of (D) more than 
 Cμmi¨¦  AvP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

136. DC motor that is suitable for constant speed application is 
Constant speed application &US EP¢uuõP P¸u¨£k® DC ÷©õmhõº 
ÁøP  

(A) Shunt motor  
 Shunt ÷©õmhõº   

(B) Series motor 

 Series ÷©õmhõº   

(C) Cumulative compound motor 
 Cumulative compound ÷©õmhõº   

(D) Differential compound motor 
 Differential compound ÷©õmhõº   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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137. Armature core of a dc machines is made of 
D.C. ö©]Ûß Armature core GuÚõÀ E¸ÁõUP¨£mi¸US®?  

(A) Carbon steel (B) Mild steel 

 Põº£ß ìjÀ  ø©Àk ìjÀ 

(C) Silicon steel (D) Cast iron 
 ]¼UPõß ìjÀ  Põìk I¯ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

138. The value of back E.m.f of DC Motor at the time of starting is 
D.C. ÷©õmhõøμ start ö\´²®÷£õx Auß back E.m.f&ß AÍÁõÚx 
GÆÁõÖ C¸US®? 

(A) zero  
 §äâ¯®   

(B) greater than zero 

 §äâ¯zøu Âh AvP®   

(C) lesser than applied voltage  
 Applied voltage&ø¯ Âh SøÓÄ   

(D) greater than applied voltage 
 Applied voltage&ø¯ Âh AvP®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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139. The effect of Armature reaction in a D.C. Motor results in 
D.C. ÷©õmhõ›À Armature reaction&À HØ£hUTi¯ ÂøÍÂß ußø©  

(A) Weakens the Main Field flux  
 Main Field flux&I Á¾ CÇUP ö\´²®   

(B) Increased Armature Voltage 

 Armature Voltage AvP©õS®   

(C) Weakens the Armature flux  
 Armature flux&I Á¾ÂÇUP ö\´²®   

(D) Increase Armature current 
 Armature current&I AvP©õUS®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

140. Copper loss can be determined by conducting ––––––––––. 
Põ¨£º ªß\Uv CÇ¨ø£ wº©õÛUP ÷©ØöPõÒÍ ÷Ási¯ ÷\õuøÚ  

(A) Open Circuit Test (B) Short Circuit Test 

 Open Circuit Test  Short Circuit Test 

(C) Without any Test (D) O.C. and S.C. Test 
 G¢u ÷\õuøÚ ö\´¯õ©À  O.C. and S.C. Test 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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141. In a npn transistor ––––––––––. 
J¸ npn iμõß]ìh›À –––––––––– \©ß£õk Aø©²®. 

(A) BEC III +=  (B) ECB III +=  

(C) BCE III −=  (D) CBE III +=  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

142. A JFET is also called –––––––––– transistor.  
J¸ JFET ÷©¾® GÆÁõÖ AøÇUP»õ® ––––––––––. 

(A) Unipolar (B) Bipolar 

(C) Unijunction (D) Both (A) and (B)  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

143. The operating point is also called the ––––––––––. 
C¯UP ¦ÒÎ –––––––––– GßÖ® AøÇUP¨£kQÓx. 

(A) Cut off point (B) Saturation point 

 öÁmk¨¦ÒÎ  §›v ¦ÒÎ 

(C) Both (A) and (B)  (D) Quiescent point 
 (A) ©ØÖ® (B) Cμsk®  Aø©v¯õÚ ¦ÒÎ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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144. BC 147 Transistor indicates that it is made of ––––––––––. 
BC 147 iμõß]ìhº Cx –––––––––– BÀ BÚx Gß£øuU SÔUQÓx. 

(A) Germanium (B) Silicon 

 öáº©õÛ¯®  ]¼UPõß 

(C) Carbon (D) Aluminium 
 Põº£ß  A¾ªÛ¯® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

145. The maximum efficiency of a half wave rectifier is ––––––––––. 
J¸ Half Wave öμUiLø£¯›ß AvP¨£i¯õÚ efficiency ©v¨¦ 

––––––––––. 

(A) 81.2% (B) 50% 

(C) 40.6% (D) 25% 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

146. A rectifier circuit having only one diode is called as ––––––––––. 
J¸ öμUiø£¯º \ºU³miÀ J¸ diode ÷uøÁ¨£mhõÀ, Ax ––––––––––
AøÇUP¨£kQÓx. 

(A) Full wave rectifier (B) Full wave Bridge rectifier 

(C) Half wave rectifier (D) Voltage tripler 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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147. In a Pi ( )π  filter circuit –––––––––– Inductor and ––––––––––
Capacitor components are used. 
J¸ Pi ( )π &¤Àhº \ºU³miÀ –––––––––– CßhUhºPÒ ©ØÖ® –––––––––
Capacitor &PÒ EÒÍx  

(A) 2 and 1 (B) 3 and 2 
 2 ©ØÖ® 1  3 ©ØÖ® 2 

(C) 2 and 3 (D) 1 and 2 
 2 ©ØÖ® 3  1 ©ØÖ® 2 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

148. A Semiconductor has –––––––––– band. 
J¸ ö\ªUPshUhº BÚx –––––––––– ÷£sk (band). 

(A) Co-ordinate 

 (Co-ordinate) J¸[Qøn¨¦ 

(B) Electrovalent  
 G»Um÷μõ÷Á»ßm 

(C) Co-valent bonds 

 (Co-valent) ÷Põ÷Á»ßm £õsmì 

(D) None of the above 
 ÷©ØTÔ¯ GxÄªÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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149. In a half wave rectifier, the load current flows 
J¸ half wave rectifier&À load ªß÷Úõmh® BÚx 

(A) only for negative half cycle of the input signal  
 Negative half cycle&¼À ©mk® ö\À¾®   

(B) only for positive half cycle of the input signal 

 Positive half cycle&¼À ©mk® ö\À¾®  

(C) for full cycle  
 Positive and negative half cycles ö\À¾®   

(D) half of the positive cycle 
 £õv positive half cycle¼À ©mk®  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

150. TRIAC is equivalent to ––––––––––. 
TRIAC&UQØS \©©õÚx ––––––––––. 

(A) Two SCR’s connected in parallel  
 Cμsk SCRPÒ Cøn¯õP CønUP¨£mkÒÍÚ   

(B) Two SCR’s connected in antiparallel 

 Cμsk SCRPÒ Gvº£õμ»¼À CønUP¨£mkÒÍÚ   

(C) One SCR and one diode connected in parallel  
 J¸ SCR ©ØÖ® J¸ øh÷¯õk Cøn¯õP CønUP¨£mkÒÍx  

(D) One transistor and one diode connected in parallel 
 J¸ iμõß]ìhº ©ØÖ® J¸ øh÷¯õk Cøn¯õP 

CønUP¨£mkÒÍx   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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151. The following electronic devices is used for stator voltage control in
fan regulator 
ªß Â]Ô öμS÷»mhºPÎÀ ì÷hmhº (Stator) ªßÚÊzøuU Pmk¨£kzu 
¤ßÁ¸® ªßÚq \õuÚ[PÎß Gx £¯ß£kQÓx 

(A) TRIAC (B) BJT 

(C) MOSFET (D) IGBT 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

152. An SCR behaves as a –––––––––– switch. 
J¸ SCR –––––––––– _Âm\õP ö\¯À£kQÓx. 

(A) Unidirectional (B) Bi directional 

 J÷μ vø\°À  Cμsk vø\°À 

(C) Mechanical (D) Both (A) and (B) 
 C¯¢vμÂ¯À  (A) ©ØÖ® (B) Cμsk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

153. A four layer diode is sometime called  
J¸ |õßS AkUS (layer) øh÷¯õk GßÖ AøÇUP¨£kÁx 

(A) SCR (B) TRIAC 

(C) DIAC (D) SWITCH 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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154. A clipper circuit removes –––––––––– portion of AC wave forms peaks.
J¸ QÎ¨£º \ºU³m Aø»°ß –––––––––– £Svø¯ }USQÓx. 

(A) Positive (B) Negative 

 ÷|º©øÓ  Gvº©øÓ 

(C) Both (A) and (B) (D) Linear 
 (A) ©ØÖ® (B) Cμsk®  ÷|›¯À 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

155. The circuit shown in the given figure is a  

 
öPõkUP¨£mh £hzvÀ Põmh¨£mkÒÍ \ºU³m –––––––––– BS®. 

 

(A) Clamper (B) Clipper 

 QÍõ®£º  QÎ¨£º 

(C) Full-Wave rectifier (D) Voltage regulator 
 •Ê Aø» öμUiLø£¯º  ÷ÁõÀ÷hä öμSö»mhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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156. Liquid crystal do not emit light  
vμÁ £iP® (Liquid crystal) JÎø¯ –––––––––– öÁÎ°hõx 

(A) Indirectly (B) Directly 

 ©øÓ•P©õP  ÷|μi¯õP 

(C) Both (A) and (B) (D) None of the above 
 (A) ©ØÖ® (B) Cμsk®  ÷©÷» GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

157. A LED is basically a –––––––––– PN junctions. 
J¸ LED–ø¯ Ai¨£øh°À –––––––––– PN junction C¸US®. 

(A) Forward-biased (B) Reverse biased 

(C) Lightly doped (D) Heavily doped 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

158. Photo transistors and –––––––––– are used for sensing light. 
L÷£õm÷hõ iμõß]ìhºPÒ ©ØÖ® –––––––––– JÎø¯ Enμ £¯ß£kQÓx. 

(A) Transistors (B) Amplifiers 

 iμõß]ìhºPÒ  ö£¸UQ 

(C) Actuators (D) Photodiodes 
 C¯UQ  L÷£õm÷hõ–øh÷¯õkPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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159. Which multivibrator is known as Flip-Flop multivibrator? 
Flip-Flop ©ÀiøÁ¨÷μmhº GÚ AøÇUP¨£k® ©ÀiøÁ¤÷μmhº Gx? 

(A) Astable multivibrator  
 Aì÷h¤Ò (Astable) ©ÀiøÁ¨÷μmhº   

(B) Monostable multivibrator 

 ÷©õ÷Úõì÷h¤Ò (Monostable) ©ÀiøÁ¨÷μmhº   

(C) Schmitt trigger  
 ìªm (Schmitt) yskuÀ   

(D) Bistable multivibrator 
 ø£ì÷h¤Ò (Bistable) ©ÀiøÁ¨÷μmhº   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

160. Frequency divider application uses ––––––––––. 
AvºöÁs ÁS¨¦ (Frequency divider) £¯ß£õk –––––––––– I¨ 
£¯ß£kzxQÓx 

(A) Bistable multivibrator  

 (Bistable) ø£ì÷h¤Ò ©ÀiøÁ¨÷μmhº  

(B) Monostable multivibrator 

 (Monostable) ÷©õ÷Úõìh¤Ò ©ÀiøÁ¨÷μmhº 

(C) Astable multivibrator  

 Aìh¤Ò (Astable) ©ÀiøÁ¨÷μmhº 

(D) Tetra stable multivibrator 
 öhmμõ {ø»¯õÚ ©ÀiøÁ¨÷μmhº   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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161. The necessary steps carried out to perform the operation of
accessing either memory or I/O Device constitute a ––––––––––. 
I/O device AÀ»x memory ß ö\¯À£õmøh ö\´ÁuØS ÷©ØöPõÒÍ 
÷Ási¯ Azv¯õÁ]¯©õÚ £iPÒ 

(A) Fetch operation (B) Execute operation 

(C) Machine cycle (D) Instruction cycle 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

162. The clock frequency of an 8085 Microprocessor is 5 MHz. If the time
required to execute an instruction is 1.4 sμ , then the number of 
T-States needed for executing the instruction is 
8085&ß frequency 5 MHz. J¸ instruction&I execute ö\´¯ 

÷uøÁ¯õÚ Põ» AÍÄ 1.4 sμ  GÛÀ, A¢u instruction&À execute ö\´¯ 

÷uøÁ¨£k® T-States PÎß GsoUøP 

(A) 1 (B) 6 

(C) 7 (D) 4 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

163. The maximum addressing capacity of Intel 8085 
Intel 8085&ß AvP£m\ addressing capacity 

(A) 64 KB (B) 1 MB 

(C) 4 KB (D) 32 KB 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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164. The first machine cycle of an instruction is always a 
•uß •u¼À EÒÍ instruction cycle BÚx 

(A) Memory Read Cycle (B) Fetch Cycle 

(C) I/O Read Cycle (D) Memory Write Cycle 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

165. Total no. of bytes in LDA addr16 
LDA addr16 Gß£x GzuøÚ byte&PÒ öPõsh instruction 

(A) 1 (B) 2 

(C) 3 (D) 4 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

166. Consider the following instructions in a program of 8051
Microcontroller. 

MOV A, # 5Ah 

SWAP A 

The content of A register is given by 

MOV A, # 5Ah 
SWAP A  

÷©ØPsh instructions&PøÍ 8051 ø©U÷μõPsm÷μõ»›À execute
ö\´u¤ÓS A register&ß ©v¨¦ 

(A) 5 A h (B) A 5 h 

(C) 55 h (D) A A h 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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167. The addressing mode of the following instructions Mov A, B 

Mov A, B&ß Amμê[ mode ––––––––––  

(A) Register indirect addressing 

(B) Immediate addressing  

(C) Direct addressing 

(D) Register addressing 

(E) Answer not known 

 Âøh öu›¯ÂÀø» 

168. Which of the following instructions will load the value 35 h into the

high byte of timer 0? 

CvÀ G¢u instruction 35 h GßÓ data&øÁ Timer register&ß higher 

byte&À load ö\´²® 

(A) MOV THO, #35 h (B) MOV THO, 35 h 

(C) MOV TO, #35 h (D) MOV TO, 35 h 

(E) Answer not known 

 Âøh öu›¯ÂÀø» 
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169. Mode 2 of Timer Operation of microcontroller is known as 
ø©U÷μõPßm÷μõ»›À øh©º Operation&ß Mode 2 Gøu SÔUQÓx 

(A) 13 bit Timer (B) 16 bit Timer 

 13 bit øh©º  16 bit øh©º 

(C) 8 bit Auto reload (D) 8 bit Split Timer 
 8 bit Bm÷hõŸ÷»õm  8 bit ì¤¼m øh©º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

170. The function of TR bit of TCON register 
TCON öμâìh›ß TR ¤m £¯ß£õk –––––––––– BS® 

(A) Timer ON/OFF (B) Mode selection 

(C) Timer overflow (D) Baudrate selection 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

171. R1/T1 is a –––––––––– interrupt. 
R1/T1 Gß£x ————— interrupt. 

(A) Data Transfer (B) Serial Communication 

(C) Internal (D) External 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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172. In 8255, BSR mode is ––––––––––. 
8255 – À BSR mode BÚx ————— 

(A) Enable MSB of control word (B) Enable LSB of control word 

(C) Set/Reset port B pins (D) Set/Reset port C pins 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

173. What is the size of internal bus of the 8255? 
8255 – ß internal bus – ß AÍÄ ¯õx? 

(A) 16 bits (B) 8 bits 

(C) 32 bits (D) 12 bits 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

174. 8051 contains –––––––––– type of serial port. 
8051 ————— ÁøP ^›¯À ÷£õºmøh öPõskÒÍx 

(A) Full duplex (B) Half duplex 

(C) Simplex (D) Semi duplex 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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175. RS 232 is a 
RS 232 Gß£x 

(A) Serial communication standard 

(B) Modem 

(C) Interrupt controller  

(D) Parallel Bus for data communication 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

176. 8051 microcontroller has –––––––––– no. of I/O pins. 
8051 ø©U÷μõ Psm÷μõ»º GzuøÚ I/O pins&PøÍ ö£ØÖÒÍx?  

(A) 8 (B) 16 

(C) 32 (D) 24 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

177. In 8051 microcontroller relative range of short jump is given by 
8051 ø©U÷μõ Psm÷μõ»›À short jump instruction – Eøh¯ relative 
range&I SÔ¨¤kP. 

(A) –128 to +127 bytes (B) –64 to +64 bytes 

(C) –256 to +256 bytes (D) –512 to +512 bytes 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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178. On power up, the address of 7R  register in a 8051 microcontroller is

8051 ø©U÷μõ Psm÷μõ»øμ power on ö\´²® ÷£õx 7R  register–ß 

address BÚx 

(A) 0Fh (B) 1Fh 

(C) 17h (D) 07h 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

179. 8051 microcontroller has on chip ROM size of 
8051 ø©U÷μõ Psm÷μõ»›ß on chip ROM ß AÍÁõÚx 

(A) 4K bytes (B) 8K bytes 

(C) 16K bytes (D) 32K bytes 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

180. The device that generates the basic timing clock signal for the
operation of the circuit in a 8051 micro controller is 
8051 ø©U÷μõ Psm÷μõ»›ß circuit PÒ ÷Áø» ö\´¯ ö£õxÁõÚ 

Timing Clock Signal I E¸ÁõUSQßÓ Aø©¨¤ß ö£¯º 

(A) timing unit (B) timing and control unit 

(C) oscillator (D) clock generator 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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181. In the ––––––––––, only the machine whose motor develops fault is
affected. 
——————À £Êx HØ£mh ö©æß ©mk÷© £õvUP¨£kQÓx 

(A) Individual drive (B) Multimotor drive 

(C) Group drive (D) Both (B) and (C) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

182. For starting a lift, the required starting torque is upto ––––––––––
times the full load torque of the motor. 
J¸ ¼¨øh ìhõºm ö\´¯, ÷©õmhõ›ß ìhõºi[ hõºU full load hõºU 
÷£õÀ –––––––––– ©h[PõP C¸US®. 

(A) 2 to 3 (B) 3 to 4 

(C) 4 to 6 (D) 6 to 8 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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183. In a punching machine, the Flywheel is used to ––––––––––. 
xøÍ°k® C¯¢vμzvÀ, ¨øÍÃÀ»õÚx ——————UPõP £¯ß£kQÓx.

(A) reverse the speed/direction  
 vø\/÷ÁPzøu ©õØÖÁuØS  

(B) reduce the fluctuation of load 

 load PÎ¾ÒÍ HØÓ & CÓUPzøu SøÓUP   

(C) provide high starting torque  
 AvP ìhõi[ hõºUøP E¸ÁõUSÁuØS   

(D) run the motor smoothly 
 ÷©õmhõøμ ^μõP KmkÁuØS 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

184. Constant acceleration period of train is also known as 
μ°¼À HØ£k® {ø»¯õÚ •kUP Põ»® —————— GßÖ® 
AøÇUP¨£kQÓx. 

(A) Notching up period (B) Free running period 

 |õm][ A¨ period  Free running period 

(C) Coasting period (D) Braking period 
 ÷Põìmi[ period  ¤÷μUQ[ period 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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185. For 25 kV single phase system, power supply frequency is –––––––. 
25 kV single phase system&zxUPõÚ £Áº \¨øÍ frequency 
——————. 

(A) 60 Hz (B) 50 Hz 

(C) 25 Hz (D) 3
216  Hz 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

186. A method in that motor is not disconnected from the supply but it is
made to run as a generator by utilizing the kinetic energy of the
moving train and the generated energy is fed back to the supply is
––––––––––. 
J¸ ÷©õmhõº BÚx \¨øÍ°¼¸¢x xsiUP¨£hõ©À μ°¼ß C¯UP 

BØÓø» (kinetic energy) öPõsk öáÚ÷μmhμõP C¯[Q Av¼¸¢x 
E¸ÁõS® BØÓø» \¨øÍU÷P v¸®£ ö\¾zxÁx 

(A) Dynamic Braking (B) Electromagnetic Braking 

 h¯ÚªU ¤÷μUQ[  G»Um÷μõ÷©UÚmiU ¤÷μUQ[

(C) Regenerative Braking (D) Rheostatic Braking 
 ŸöáÚ÷μmiÆ ¤÷μUQ[  ›÷¯õìhõiU ¤÷μUQ[ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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187. –––––––––– transformers are necessary in AC traction to confine
the return current through the rail and return feeder then through
the ground.  
AC mμõUåÛÀ G¢u mμõßì£õ©º, μ°À ©ØÖ® ›mhß ¥hº ÁÈ¯õP 
Pμsøh Phzv ¤ßÚº uøμ ÁÈ¯õP PhzxQÓx. 

(A) Current (B) Potential 

(C) Booster (D) Step down 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

188. Underground substations are generally located in ––––––––––. 
§ªUS Ai°À {ÖÁUTi¯ xønªß {ø»¯® Aø©Âh® G[S 
{ÖÁ¨£k®. 

(A) Villages  

 Qμõ©¨¦Ó® (Villages)  

(B) Town Panchayat 
 |Pμ £g\õ¯zx (Town Panchayat) 

(C) Thickly populated area  
 AvP ©UPÒ ö|¸UP©õÚ £Sv 

(D) Forest area 
 PõkPÒ {øÓ¢u £Sv 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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189. Main consideration in designing of feeder is ––––––––––. 
¥høμ ÁiÁø©UP —————— •UQ¯©õP P¸u¨£kQÓx. 

(A) Reactive power limit (B) Atmospheric condition   
 ›¯õmiÆ £Áº ¼ªm  _ØÖ¨¦Ó `Ç¼ß {ø» 

(C) Current carrying capacity (D) Both (B) and (C) 
 Pμsøh {ºÁQUS® vÓß  (B) & (C) Cμsk÷© 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

190. The most common system for secondary distribution is
400 / –––––––––– V, 3 phase –––––––––– wire system. 
Cμshõ® {ø» £Qº©õÚ ]ìh® 400/ –––––––––– phase –––––––––– wire 
¯õÀ BÚx. 

(A) 230 V, 3 (B) 415 V, 3 

(C) 230 V, 4 (D) 415 V, 4 

(E) Answer not known   
 Âøh öu›¯ÂÀø» 

191. Single bus bar arrangement in substation is used for voltages less
than ––––––––––. 
][QÒ £ì £õº A÷μßäö©ßm –––––––––– ÷ÁõÀm RÌ 
ö\¯À£kzu¨£kQÓx. 

(A) 66 kV (B) 110 kV 

(C) 220 kV (D) 33 kV 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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192. During resistance welding, the heat produced at the joint is
proportional to ––––––––––.  
öμ]ìhßì öÁÀi[QÀ, Cøn¨¦PÎÀ HØ£k® öÁ¨£©õÚx ––––––––––
US ÷|º ÂQu©õS®. 

(A) RI 2  (B) kVA 

(C) Current (D) Voltage 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

193. In atomic hydrogen welding the electrode is made of ––––––––––. 
Aq øímμáÛÀ, G»Um÷μõk BÚx –––––––––– ¯õÀ 
E¸ÁõUP¨£mi¸US®. 

(A) Carbon (B) Graphite 

 Põº£ß  QμõLø£m 

(C) Tungsten (D) Mild Steel 
 h[ìhß  ö©À¼¯ GLS 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

194. –––––––––– method has leading power factor. 
–––––––––– ¯õÚx leading power factor ø¯ öPõshx 

(A) Resistance heating (B) Dielectric heating 

 öμ]ìhßì ïmi[  øh G»Um›U ïmi[ 

(C) Arc heating (D) Induction heating 
 BºU ïmi[  CßhUåß ïmi[ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



   336-Electrical and Electronics 
  Engineering 

81

195. In resistance heating highest working temperature is obtained from
heating elements 
öμêìhßì ïmi[À AvP öÁ¨£{ø»ø¯ uõ[PU Ti¯x©õÚ ö£õ¸Ò 
(G¼©ßm) 

(A) Nickel copper (B) Nichrome 

 {UPÀ–Põ¨£º  {U÷μõ® 

(C) Silicon carbide (D) Silver 
 ]¼Pß Põºø£k  ]ÀÁº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

196. For the same lumen output, the running cost of the fluorescent lamp
is ––––––––––. 
J÷μ ¾ö©ß AÄm¦m öPõsh ¦Ðμ\ßm ÂÍUQß μßÛ[ PõìhõÚx, 
¤Í©sm ÂÍUS –––––––––– C¸US®. 

(A) equal to that of filament lamp  
 ¤Í©sh ÂÍUSUS \©©õP   

(B) less than that of filament lamp 

 ¤Í©sh ÂÍUøPÂh SøÓÁõP   

(C) more than that of filament lamp  
 ¤Í©sh ÂÍUøPÂh AvP©õP   

(D) none of the above 
 GxÄªÀø»   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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197. Stroboscopic effect in illumination is also called as ––––––––––.  
öÁÎa\zvß ìm÷μõ÷£õì÷Põ¤U ÂøÍÄ Gß£x –––––––––– 

(A) Skin effect (B) Ferranti effect 

 ìQß ÂøÍÄ  ¤μõsi ÂøÍÄ 

(C) Flickering effect (D) Thermal effect 
 ¨ÍUP›[ ÂøÍÄ  öuº©À ÂøÍÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

198. A solid angle is expressed interms of ––––––––––. 
vhU÷Põn® –––––––––– A»S öPõshx. 

(A) radians/metre (B) radians 

 ÷μi¯ßì /«mhº  ÷μi¯ßPÒ 

(C) steradians (D) degree 
 ì÷h÷μi¯ßPÒ  iQ› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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199. Sometimes the wheels of rotating machinery, under the influence of
fluorescent lamps appear to be stationary. This due to the 
¦÷Íõ÷μõéßm SÇÀ ÂÍUS öÁÎ°k® PvºPÎß £õv¨¤ÚõÀ 
C¯¢vμzvß _ØÖ® \UPμ[PÒ, {ø»¯õP EÒÍx ÷£õ» öu›²® Põμn® 

(A) Low power factor  

 SøÓ¢u £Áº £õUhº  

(B) Stroboscobic effect 
 ìm÷μõ÷£õì÷Põ¤U ÂøÍÄ 
(C) Fluctuations  
 {ø»¯ØÓ ußø©  

(D) Luminescence effect 
 ¿ªÚßì ÂøÍÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

200. Illumination of one lumen per sq.m. is called ––––––––––. 
À¾ª÷ÚåÛß J¸ \xμ A»Q¾ÒÍ ¾ö©ß Gß£x ––––––––––. 

(A) lumen2/metre (B) lux 

 ¾ö©ß
2
/Áõm  »Uì 

(C) lumen/watt (D) candela 
 ¾ö©ß/Áõm  ÷Psi»õ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

 


